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b) What do you mean by subtense bar and what is the
difference between a fixed hair tachometer and substense

theodolite?
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B.Tech., III Semester
Examination, June 2023
Grading System (GS)
Surveying
Time : Three Hours

Muaximum Marks : 70
Naore: 1} Attempt any five questions.
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i1} All questions carry equal marks.
T4t 7T & FAAH 37 §)

iii) In case of any doubt or dispute the English version
question should be treated as final.
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1. a) The following staff readings were obtained during a
levelling work with the instrument being shifted after the
3t 6" and 9™ Readings: 2.215, 0.955, 0.985, 2.345,
2.105,1.295,1.325,2.327, 1.498,0.975 and 1.625. Find
the reduced levels of the remaining points if the RL is

200.00 for the first point using Height of instrument
method.

edfer o & SR Fr=ferfad wers 8fEn are &) S oft,
et Saawwr 3, 6 3R 9 & 9 wwEERa B Ty em
AT 2 2.215, 0.955, 0.985, 2.345, 2,105, 1.295, 1:325,
2.327, 1.498, 0.975 3R 1.625 9y Rigsii & v gu &
Teer fifg & W RL 200.00 81
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b) Define Whole Circle Bearing and Reduced circle Bearing 3. a). Define True meridian, Magnetic meridian, Arbitrary

Convert WCB to RCB and RCB to WCB of the following, meridian and Grid meridian.

R e IRR IR 7 et IR A IRefa 1 PrEfeen 2 ARf, A4 AR, T AR ik fis ARz
# @ WCB @ RCB 3R RCB @ WCB ¥ a1 b1 ufymf¥e ax)

i) 125°45° i) 325° 30 b) The following are the bearings of a closed traverse.
iii) S25° 45'W iv) N40° 15W Calculate the interior angles of the traverse and also check

whether the bearing is free from local attraction.

2. a) Discuss about the Obstacles in Chainigg\Witz a neat 4z 2adt & Rt PrefaRan &1 2o & araRe B &

sketch.
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b) Atell tapc was 20 m long at 200 C when supported !
thfuught':ulils] under apull of 5 Kg. Alinemeasured AB N45°30'E S45°30"W
with this tape under a pull of 16 kg and at a mean .
temperature of 320 C was found to be 680 m long. BC S60°0'E N60°0'W
Assuming the tape is supported at every 20 m. find th
truc lcngﬁi Dfﬂlepclinc pp ; . ) D S10°30°W N10°30°E
Given data arca of C/s =0.03 cm?, E=2.1 x 106 kg/cm?, DA N75%45'W S75°45°E

a =11 x 10°® per oc and weight of tape = 10g/cc.

U S 29 200 C R i 20 ey oy o, 1@ g gt 4. a) whatdo you know about repeating theodolite, direction

sarg s felim & faae & dga wolla off) 39 29 @ theodolite and Gale’s table.

16 {3 & A 3k 320 C & sitaa armm gx ol 12 o RreReEe, s RaReRe siR Id s S e &
@ 680 e ot o T A & B Yy W 20 ey w TR g T S E7

A 21 mﬂmﬁmﬁﬂﬁﬁﬁﬁﬁm b) The following records are obtained in a traverse survey,
C/s=003cm?, E=2.1 x 106 kg/cm?, =11 x 10-60fy where the length and bearing of the last line were not
oc 3R éﬂETFEIGT-I:IﬂgIccT:ﬁ]mEJ ﬂ?ﬁm’iﬂ!?l recorded. Calculate the length of DA and bearing of AB.
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b) Whatare the initial and final sub-chords and what is super
2ifeyy dfe @) oS Al 3R gt STl o T 2T DA 6y clevation and why it is provided
Staré iR AB ¥ R 61 0T @i uRftres ity aiftey Su-=E T ¥ ol gur ofeaderT @ 8
Sidd Length | Bearing atR g =i wer fRFar e 8
q
AB| 1000 — 7. a) Whatis the versed sine of curve and what are the different
BC 80.5 140°30 types of the Curve settings.
CD| 60.0 | 220°30° T 6 Rifta = 7 € ok I A= & s v F=
DA ? 310°15'
g7
a) Describe the proces \§ permanent adjustment in b) Twotangents AB and BC intersects at a point B at chainage
) theodolite 5\ 150.5 m. Calculate all the necessary data for setting out a
T L ; circular curve of radius 100 m and deflection and angle is
ReEemEe § &1 wfran = TR 300 by the method of offset from the long chord.
b) Whatare th @%Qumds of traversing by theodolite. g1 wef @Y AB 3R BC 150.5 m #Ear @R 0 fig BR
Rrirerese o Safdtn & ol @ E72 nferss et §1 S Siar § sifede it fafly grr 100 dex
e oiR fRdoor ik o1 300 & & gAOTER T B
a) Two tangests AB.and BC intersccts a B. Another line DE e A & fore wft srawas e & moF el
i t ZADE = 150°
intersects A]_S andfg:t D:nd E;:h;h:t curveis200m o ® Tofind theRL of station B two observation, are taken by
and ZDEC = 1407 The racius ol the first ¢t £B i a theodolite from station A one to a BM and other to the
and that of the second is 300 m. The chatnagt: o ﬁ:s station B. The records are a follow;
z:i;uit;zﬁt: all data necessary for the setting out the A B & RL & @ & 1Y @ sm@cie, o REEemse
. ST T2 AW U BM a5 3R g 1 I B 3 & St
2 el WE§ AB 3R BC 1o B 3! et €1 T 319 31 i N
DE, AB 3R BC 3! D 3l E W T UHR Hfoeds &l @ Inst | Staff | Target |Vertical| Staff Remark
5 ~ADE= 150° 3R ZDEC=140° Tga a% &1 Br=ar Station | Station| Staff | angle | Reading
200 Hier 3R g aw A BT 300 Hiex 11 B Fit SR A | BM |LOWER | -10°¢"| 0655 |RLOFBM=
950 fieR 21 At @ Piuifa o & g smaws wft UPPER | —7°0" | 2655 | 510.500m
BT Y T T A B |LOWER | -5°¢' 1.250
UPPER | +4°Q' 3200
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